(5 1 B4k
AL (RAEY &) #RE

1 % JE A AR ¥
K71 RSN
B OMRIGIE (Hh FIER TR 1 6 7 RH 3
oy [WITKERLH) 5581 0
2K & 3, 685, 000M (5 BLWMGNARDIHEBIKOHTHEBI3 35, 000M)
R MM |SM2EAALENLSM3EIA31IHET
S SEEET: S TR P e 5 SR e BERR
AFL (RFE) HEF | 92443 A19H OK) Filil ORf
AL « R & ) f R
£ % 4 %10 %2 P
1| BB AR T3 (BR) 3, 820, 0009
2 |[ZA e 3, 490, 000/
3| R SRR fi 3,600, 000/
4 [B) A=A 7 )= Fe o SR
5 |BEHUKH I3 (B 3, 350, 0001 VAL
6  |BHAkER M (KR 3, 780, 0001
7 | (BR) AR 3, 440, 000/
8 [CA)ERAA 7 —P—E 2 3,690, 00019
9 IVRFN=
10
11
12
13
14
15
—H e D
it 524 &

L7 ¥ H




